ECE2311D10 Exam 2

Your Name: SoLuTION Your box #:

April 2, 2010

e Open book, open notes.

Calculators permitted.

e Look over all of the questions before starting.

Budget your time to allow yourself enough time to work on each question.

Write neatly and show your work!

e This exam is worth a total of 100 points.

problem1 problem2 problem3  problem 4 TOTAL

20 points 20 points 30 points 30 points

100 points




+ 20 points. Suppose you have the periodic signal z(t) given in Figure 1 below. Compute the power
and energy of this signal.
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Figure 1: A signal.
The eneryy of tns Sigv\oJ\ is MAsite because
o0
Ex: g'xz(‘\')o{* s vnlboundcha d |
-0
U To Compwlt Ta pover W Can look adt 'va"r ona.
\odd ., T, = o
peio To 3/ s
* Y
Pe= 3 Sxm)ou = < [HH} /e
-\
MV\CQ PY = -—g‘
3
—/



O

|
|

2. 20 points. Without using any math, discuss the useful things you ca{n do with convolution.
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3. 30 points. Compute the output y(t) = z(t) * h(t) of a linear time invariant system with impulse

response
1 t>20

h(t) = u(t) = -

t) =u) {0 i

given the input z(t) shown in Figure 2.
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Figure 2: Input signal.
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4. 30 points. Compute y(t) = (t) * h(t) for 2(t) = (t — L)u(t — 1) and h(t) = e~tu(t).
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5. 20 point BONUS. Using your result from the previous problem, describe how you could compute
y(2) = z(t) * h(t) for x(t) = tu(t — 1) and h(t) = e~tu(t).
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